Example 5:

A man 6 feet tall is walking toward a lamppost 20 feet high at a rate of
5 feet per second. The light at the top of the lamppost (20 feet above —
the ground) is casting a shadow of the man. At what rate is the tip of his

shadow moving and at what rate is the length of his shadow changing
when he is 10 feet from the base of the lamppost?
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Warm Up

A9 AN ship A 12 situated 80 L due east of ship B Ship A is traveling north at
40 jermtly and ship B 15 sailing south at 60 ks, How fast 15 the distance between the
ships changing at noon ¥

A bulding 15 dluminated by a floodlight that 15 15 m away and at ground level a man
2 m tall walks away from the light directly towards the building at 2 mfs. Determine
the rate of change of the length of his shadow when he 154 m from the light ¥ [3]

The trough down the centre of a cattle barn 15 40 cm wide at the top and 20 cm at the
bottorn. It 1s 30 cm deep and & m long The trough 1s being filled at the rate of

0.25 m¥min. How fast is the water level in the trough rising when the water

1z 20 cm deep in the trough?



ArS AN ship A 1z situated 80 ke due east of shup B, Ship A 15 traveling north at
40 ety and ship B 15 satling south at 60 Leedh. How fast 15 the distance between the

ships changing at noon ¥ N
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A bulding 12 illuminated by a floodlight that 12 15 m away and at ground level a man
2 m tall walks away from the light directly towards the building at 2 m/s. Determine
the rate of change of the length of his shadow when he 15 4 m from the light 7 [3]
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The trough down the centre of a cattle barn 12 40 cm wide at the top and 20 cm at the
bottom. It is 30 cm deep and 8 m long  The trough 15 being filled at the rate of
0.25 mfmin. How fast 15 the water level in the trough rising when the water

—_— .
15 20 cm deep iR treuglft—~—"""~—
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